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AsAA-1

1. vell [@fies sudld Heoriez ol e3uiRdMil 518 245 630 URE SRl [AURL 81 & %
oY £35 EIUIRAHL UL, RUSLEL T 8,00,000 £ A Guld(l 2ARMUAL 2Ad 835 EHRAAL

GRLR (5HA T 80,000 . A8 A5l (BRARL A 53921 USElAL) 2L Horod . 20
@y RURAA R) | &RWRd-B®)
1 2,00,000 4,00,000
2 3,20,000 3,60,000
3 4,00,000 2,80,000
4 4,80,000 2,00,000
5 5,60,000 1,60,000

suAL aARIAL AUl 2L g Al BUALL 53 9 A $RARIAL ER 50% 6. EHRA-A L Hgl
SR 15% 6 2L 8RB Al 10% 6. vy dduied Hed A 451515l 2Ais-l wgldAl
Gl s31A 58 su1RA 51l WA o [ARl Moy He2 Aele AL

D15 3[Ul dcdHIA HeU YR A2 Horol 6

oy 1 2 3 4 5

10% | 0.909 | 0.826 | 0.751 | 0.683 | 0.620
15% | 0.870 | 0.756 | 0.658 | 0.572 | 0.497
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U (et ALVUALRISS UL A el 2AlssAcll UHSEL A2 Hor oL 6 : 10
Noys2-X Noyse-Y
aid
Ass UdLe (3) | AlssUcl AAsA | A58 Ul (T) | AlssUcll WS

1 1,80,000 0.8 1,80,000 0.9

2 2,00,000 0.7 1,80,000 0.8

3 2,00,000 0.5 2,00,000 0.7
ugall, ofloy 24 s{lon vl A 8%l &R 1 3[Uall ddHid Hed YRG0 2i45H 0.926,
0.857 24 0.794 .
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(A Qe () Qoo ) [Aewi-s )

QL 19,00,000 85,00,000 1,00,00,000
(KL 51 1,00,000 2,50,000 5,00,000
TN 10,00,000 31,25,000 40,00,000
() SR0RL 5L ALRITRAL AR 5L [ARLLLY, A5LSIRS € 2
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1AL $1R0L AL Fetsdl™l T 1,00,000 AL 244 GRAR [RQIRTURL WAL T 12,500 -l &21sl 531
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AsAA-TT
5. AR [AseU URIE S, (O d WIRL) 10
(1) 2UdRS AndRALER .
(a) HARIM &R (b)  GURA AR HSL UsaR
(c) se-vlg &R (d) 2N HH

(2)  URA AN UHA U [ AHA ASSL Sl HIZ, 5S UAlS AL U0l 2.

(a) UR (b) Wiz
(3) (Rl gat AP 3 A HdAAL Ul ©.
(2) UR (b) Wiz
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Instructions : (1)  All questions in Section-I carry equal marks.
(2) Attempt any two questions in Section-I.
(3) Question No. 5 in Section-II is compulsory.

SECTION-I
1. The management of Khushi Ltd. is considering selecting a proposal out of two
proposals which requires initial investment of ¥ 8,00,000 each and scrap value of

% 80,000 each at the end of useful life. The estimated profit (before depreciation and

tax) is as under : 20
Year | Proposal-A %) | Proposal-B %)
1 2,00,000 4,00,000
2 3,20,000 3,60,000
3 4,00,000 2,80,000
4 4,80,000 2,00,000
5 5,60,000 1,60,000

The company uses straight line method of depreciation and tax rate is 50%. The cost of
capital of proposal-A is 15% and proposal-B is 10%. You are required to guide
management about which project should be accepted using net present value and
profitability index method.

The present value factor of ¥ 1 are as follows :

Year 1 2 3 4 5
10% | 0.909 | 0.826 | 0.751 | 0.683 | 0.620
15% | 0.870 | 0.756 | 0.658 | 0.572 | 0.497
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2. (A) lJesika Ltd. is considering one of two proposals, Project X and Project Y, which
require cash outlays of ¥ 3,40,000 and X 3,30,000 respectively. The risk free rate

is 8%. The expected net cash flows and their certainly equivalents (C.E.) are as

follows :
Project-X Project-Y
Year End
Cash Flow ) | C.E. | Cash Flow ) | C.E.
1. 1,80,000 0.8 1,80,000 0.9
2. 2,00,000 0.7 1,80,000 0.8
3. 2,00,000 0.5 2,00,000 0.7

Present value factors of X 1 discounted at 8% at the end of year 1, 2 and 3 are

0.926, 0.857 and 0.794 respectively.

(B) Write a note on decision tree analysis.

3. (A) The operating information of three divisions of K Ltd. is as follows :

(B) What is responsibility accounting ? Explain types of responsibility centres.

SD-117

Particulars Division-A ) | Division-B (X) | Division-C )
Sales 19,00,000 85,00,000 1,00,00,000
Operating profit 1,00,000 2,50,000 5,00,000
Investment 10,00,000 31,25,000 40,00,000

(i)  Using operating profit ratio, which division is most profitable ?

(i1))  Using return on investment, which is most profitable division ?

(ii1)) From the above two, which measure is better indicator of overall

performance ?

10

10

10

10



4. A company has two Divisions, Division A & B. Division A has a budget of selling

1,00,000 units of a component X to fetch a return of 20% on average assets employed.

The following information of Division-A is given : 20

Particulars (4

Fixed overheads 2,50,000

Variable cost T 1 per unit

Average Assets

Debtors 1,00,000
Inventories 2,50,000
Plant 2,50,000

However, there is constraint in marketing and only 75,000 units of component X can be

directly sold to market at proposed price. Consequently, Division B is advised to buy

25,000 units of component X. Division-A wants a price of I 4 per unit but Division-B

is prepared to pay < 2 per unit of X.

Division A has another option on hand, which is to produce only 75,000 units of

component X. This will reduce holding of assets by ¥ 1,00,000 and fixed overheads by

% 12,500. You are required to advise most profitable course of action for Division A.

SECTION-II
5. Choose the correct option (any five) 10
(1) IRRis
(a) Hurdle rate (b) WACC (c) Cut-off rate (d) All of these
(2) Pay-back period has no relation with cash flow to determine time period.
(a) True (b) False
(3) Decision tree approach is method of risk measurement.
(a) True (b) False
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(4) Lower the discountrate,  present value.
(a) higher (b) lower (¢) No relation
(5) The basic purpose of responsibility accounting system is
(a) Motivation (b) Budgeting
(c) Authority (d) Variance analysis

(6) Division under transfer pricing system is treated as

(a) profit centre (b) investment centre
(c) costcentre (d) None of above
(7) To take capital budgeting decisionis  decision.
(a) past (b) future (c) present (d) (b)and (c)

(8) Internal rate of return is always greater than cost of capital.
(@) True (b) False

(9) Under which method, cash flow of each year is re-invested ?
(a) Netpresent value (b) Terminal value
(c) Pay-back period (d) Internal rate of return

(10) Risk adjusted discount rate is higher than risk free discount rate.
(@) True (b) False

(11) Co-efficient of variation is an absolute measure for measuring risk.
(a) True (b) False

(12) Responsibility accounting is a part of
(a) External Reporting System (b) Corporate Reporting System

(c) Internal Reporting System (d) Global Reporting System
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